




❖ Compare two numbers in form of ± 𝒂 ;𝒂 > 𝟎

Example: Compare 

12 and 15 − 21 and − 18 24 and − 32

12 < 15

So 

12 < 15

21 > 18

21 > 18
So 

− 21 < − 18

24 > − 32
Since the positive 

number is always 

greater than the 

negative number.



❖ Compare two numbers in form of ±𝒂 𝒃 ; 𝒃 > 𝟎
Example 1: if the two numbers include the same radicals.

Compare 

2 12 and 3 12 −5 21 and −3 21 5 26 and −2 26

2 < 3
So 

2 12 < 3 12

−5 < −3

−5 21 < −3 21

5 26 > −2 26
Since the positive 

number is always 

greater than the 

negative number.



❖ Compare two numbers in form of ±𝒂 𝒃 ; 𝒃 > 𝟎
Example : if the two numbers include different radicals.

Compare 

3 15 and 2 7
3 > 2 and 15 > 7

So,

3 15 > 2 7



❖ Compare two numbers in form of ±𝒂 𝒃 ; 𝒃 > 𝟎
Example 2: if the two numbers include different radicals.

Compare 

3 5 and 2 7

Method 1:

Squaring the two numbers: 

3 5
2
= 45 and 2 7

2
= 28

45 > 28 so, 3 5 > 2 7

Method 2:

3 5 = 32 × 5 = 45

2 7 = 22 × 7 = 28

45 > 28 so, 3 5 > 2 7



❖ Compare two numbers in form of ±𝒂 𝒃 ; 𝒃 > 𝟎
Example 3: if the two numbers include different radicals.

Compare 

−2 11 and −3 7

Method 1:

Squaring the two numbers 2 11

and 3 7: 

2 11
2
= 44 and 3 7

2
= 63

44 < 63 so, 2 11 < 3 7

Then, −2 11 > −3 7

Method 2:

−2 11 = − 22 × 11 = − 44

−3 7 = − 32 × 7 = − 63

44 < 63 so, 44 < 63

Then − 44 > − 63

Hence −2 11 > −3 7



• If 𝑎 > 𝑏 ; then 𝑎 − 𝑏 > 0
• If 𝑎 < 𝑏 ; then 𝑎 − 𝑏 < 0

❖ Compare two numbers in form of 𝒂 ± 𝒃 𝒄 ; 𝒄 > 𝟎

Example 1: 

Compare 2 + 3 and 2 + 5 2 + 3 and 2 − 3

3 < 5
So 

2 + 3 < 2 + 5

2 + 3 > 2

2 − 3 < 2
So

2 + 3 > 2 − 3



• If 𝑎 > 𝑏 ; then 𝑎 − 𝑏 > 0
• If 𝑎 < 𝑏 ; then 𝑎 − 𝑏 < 0

❖ Compare two numbers in form of 𝒂 ± 𝒃 𝒄 ; 𝒄 > 𝟎

Example 2: 

Compare A = 3 + 2 2 and B = 2 + 3 2

Calculating 𝐴 − 𝐵

𝐴 − 𝐵 = 3 + 2 2 − 2 + 3 2 = 3 + 2 2 − 2 − 3 2 = 1 − 2

1 < 2 so 1 − 2 < 0. Hence, 𝐴 < 𝐵



• If 𝑎 > 𝑏 ; then 𝑎 − 𝑏 > 0
• If 𝑎 < 𝑏 ; then 𝑎 − 𝑏 < 0

❖ Compare two numbers in form of 𝒂 ± 𝒃 𝒄 ; 𝒄 > 𝟎

Example 3: 

Compare A = 2 + 5 3 and B = 2 + 4 3 + 2

Calculating 𝐴 − 𝐵

𝐴 − 𝐵 = 2 + 5 3 − 2 + 4 3 + 2 = 2 + 5 3 − 2 − 4 3 − 2

= 3 − 2

3 > 2 so 3 − 2 > 0. Hence, 𝐴 > 𝐵




